ENGR-2060

E.M. - DYNAMICS

NAME DATE
WEEK: PROBLEM:
GIVEN:
Relative to the earth-fixed coordinate Y

system, the disk rotates about the fixed point O at
10 rad/s. What is the velocity of point A relative to point

10 rad /s
B at the instant shown?

What is the
acceleration of point A relative to point B at the
instant shown?

REQUIRED:

SOLUTION:

Selution:
vy = —(10 rad/s)(2 fifi = —(20 fi's)i

ve = (10 radis)(2 ft)j = (20 fi/s)j

Vass = Va — Vg = (—200 — 20j) fi's

a4 = —(10 rad/s)* (2 ft)j = —(200 fi's”)j

ag = —(10 rad/s)* (2 fi)i = —(200 fi/s*)i

A8 = a4 —ag = (200i — 200j) fr/s®
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